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10, 33, 36, 49, dec

3, 8, 13, 18, &e

4. X a 3 and y = 1

1, 13, 36, 37, Ao
ftc

100, 199, ftc

13. X » 3, y s 3, « s 4

16. 46

6. X z 3 and y » 3

8. X s 6 and y s 4

10. X « 11 and y s 4

^ (X = 2, 6, 10, 14,

"•
Jy = 3,20, 37, 64, fto

14. X s 11, y s 3, « as 3

16. 64

17. He pays 8 guineas and receives back 7 half-crowns

18. X s 3n and y » n^-> 1 where n maybe assumed at pleasure

s

any integral number ; and it will be found that x* 4* y*

is a square
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'V vlio'o ^ <^&d y may be assumed at pleasure

and it will be found that x* - y' is a square

ao. 98. 31. 109.

^. Ifo two fractions with denominators 10 and 16 added to*

gether will make ^. Prote this.

33. The problem is impossible Prove this.

34. 3, 6, 9, 13 or 15 £6 notes ; 81, 63, 43, 34 or 5 £1 notes
]

16, 33, 48, 64 or 80 orown-pieees.

36. 83 and 3; 16 and 9 ; 10 and 16 ; or 4 and 31

36. 3, 16 and 6 ; 7, 8 and 9 ; or 11, 1 and 13

38. a** X (3*^ ^-^ 1) where n may be assumed ^ to any integral

numbtr.

a9. ilt 80* Iat|60i9at980,a&d90at|a.


